[image: ]Woodhouse Primary School: written methods
Year group: Year 5
Method: division with remainders as decimals 
(bus stop method)
Questions
	1. [bookmark: _Hlk42529983][bookmark: _Hlk42080070]2451 ÷ 2 =
	
	11. 1858 ÷ 8 =

	2. 3523 ÷ 2 = 
	
	12. 2562 ÷ 8 =

	3. 5652 ÷ 5 = 
	
	13. 8652 ÷ 8 =

	4. 5588 ÷ 5 =
	
	14. 5085 ÷ 6 = 

	5. 6581 ÷ 5 =
	
	15. 1665 ÷ 4 =

	6. 5566 ÷ 4 = 
	
	16. 4023 ÷ 6 =

	7. 4694 ÷ 4 =
	
	17. 8886 ÷ 8 =

	8. 4451 ÷ 4 = 
	
	18. 5387 ÷ 5 =

	9. 4569 ÷ 4 =
	
	19. 1329 ÷ 6 =

	10. 8851 ÷ 4 =
	
	20. 4597 ÷ 8 = 





Answers
	1. 1,225.5
	
	11. 232.25

	2. 1,761.5
	
	12. 320.25

	3. 1,130.4
	
	13. 1,081.5

	4. 1,117.6
	
	14. 847.5

	5. 1,316.2
	
	15. 416.25

	6. 1,391.5
	
	16. 670.5

	7. 1,173.5
	
	17. 1,110.75

	8. 1,112.75
	
	18. 1,077.4

	9. 1,142.25
	
	19. 221.5

	10. 2,212.75
	
	20. 574.625
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